[TlpuMmeHeHun
HenpepbIBHOCTU

MeTon
MHTepBasoB

Ypok anrebpsl B 10 knacce.
[TogrotoBuna yunTtesnb
matemaTtukn MOY «COLL .
Benosapckun» Opsinak J1.H.



SAOAHUA ONA TPYTII

[pynnal

a) (x-2)3(x+1)((x-1)(x?+2x+5)<0

6) (x—2)(x—3)%x
(x+4)*x+5)

B) Vx(x+2) <0
[pynna 2

a) (x°+1)(x?+x+1)(x+5)*>0
0) —x24 7x—12
2xf —x—3

B) /x(x—2)<0
[pynna 5

a) (x+4)%(x+5)%(x-6)(x+3)<0
6)

<0

2x% —4x— 6
4x — 11

\,"E(X— 2) =0

= 2

B)



OTBETHI

lrpynna a) (-1;1),(1;2);
0) (-5;-1),(2;3),(3;+);
B) (O;+o0)

2rpynna a) (-5;+);
0) (-o0;-1),(1,5;3),(4;+0);
B) (0;2)

3rpynna a) [-3;6],x=-5,x=-4;
0) [2;2,75),(4;+0);
B) [2;+), x=0




CAMOCTOATEJIbHAA PABOTA

BapunaHT 1

5) X (x—3) "
X.—1

6) x2—1(x+2)>0

B) x4-3x+2>0

0

BapuaHT 2

a) x%(x+2

) x2(x+2) _
X 11

©) Vx2—1(x—-3)<0
B) X-TOXT4<U

0




OTBETbDI

BapunaHT 1

a) (1;3)

0) (-2;1),(1;+o0)
B) (-00;1),(2;+)
BapuaHT 2

a) (-2;-1)

0) (-o0;-1),(1;3)
B) (-4;-1)



PELLEHWVE SAOAH

PelunTb HepaBeHCTBa:
) x*—3x2+2

> =<0
bx-—x—1

2y 1 2 3

-+ =
XxX—2 xXx—3 x—4




OOMALUHEE SAOAHUE

n.18; N° 250(a,B), N°249(a,r)



